
Portafresas arrastre frontal. DIN 69871-A

Shell mill adaptors. DIN 69871-A

Piezas de recambio - Spare parts

Pag. 17

10xx.MFN

16

  

 7

3 

4!

d

AM"16

AM"  

AM" 7

AM"3 

AM"4!

#1!8! !$%M8x !&

#11!! '$%M1!x '&

#11 ! '$%M1 x '&

#116!3'$%M16x3'&

#1 !!4!$%M !x4!&

REF. REF. REF. REF.

Utilización:$Para$"resas$con$arrastre$frontal$seg(n$DIN$138
Tolerancia Ød:$h6
Suministro: Incluidos$los$tetones$de$arrastre$)$el$tornillo$de$su*eción.

Application: !or cutters "ith driving slots according to DIN 138
Tolerance Ød: h6
Delivery: Driving #e$s and tightening bolt included

ISO 3937

d A
l1

d d
1

+

A

A FIG COD d L d1 d2±1 L1

fig. 1 1040.MFN.16 36 3 -

fig. % 1040.MFN.16.090 9! 4' 4'

fig. % 1040.MFN.16.120 1 ! 4' 4'

fig. 1 1040.MFN.22 36 4! -

fig. % 1040.MFN.22.090 9! 4! 4!

fig. % 1040.MFN.22.120 1 ! '! '!

fig. 1 1040.MFN.27 '6 48 -

fig. % 1040.MFN.27.090 9! 6! 6!

fig. % 1040.MFN.27.120 1 ! 6! 6!

fig. 1 1040.MFN.32 '6 '8 -

fig. % 1040.MFN.32.090 9! 63 63

fig. 1 1040.MFN.40 4! '6 7! -  7

1716

  19

 1

40

3  4

 7

A FIG COD d L d1 d2±1 L1

fig. 1 1050.MFN.16 16 '6 3 - 17

fig. 1 1050.MFN.22 '6 -

fig. % 1050.MFN.22.105 1!' '!

fig. % 1050.MFN.22.170 17! '!

fig. % 1050.MFN.22.220   ! ''

fig. 1 1050.MFN.27 '6 -

fig. % 1050.MFN.27.105 1!' '8

fig. % 1050.MFN.27.170 17! '8

fig. % 1050MFN.27.220   ! 63

fig. 1 1050.MFN.32 '6 -

fig. % 1050.MFN.32.105 1!' 68

fig. % 1050.MFN.32.170 17! 68

fig. % 1050.MFN.32.220   ! 68

fig. 1 1050.MFN.40 '6 -

fig. % 1050.MFN.40.105 1!' 7!

19

 7

  

7!  7

3 '8  4

48  1
50

4!

4!

CHA16

CHA  

CHA 7

CHA3 

CHA4!

# !3!!8$%M3x8&

# !4!!8$%M4x8&

# !'!1 $%M'x1 &

# !6!1 $%M6x1 &

# !8!1 $%M8x1 &

d 0,005 AAT 3

l1+

d d
1

fig. 1

fig. %


